ENAEIKTIKEZ AYZEIZ
OEMA 4

1 IPOTPAMMA = 4 3

2  METABAHTES

3 AKEPAIEZ: II[50, 12], i, j, BHO[50], OM[12], min, minm
4 XAPAKTHPEE: ON[50]

5  APXH

6 14.1

7 TIA i ANO 1 MEXPI 50

8 AIABASE ON[i]

9 TIA § ANO 1 MEXPI 12

10 AIABAZE II[i, 7]

11 TENOEX_ENANANHYHE

12 TENOZ _EINANANHYHE

13 4.2

14 TIA i AINO 1 MEXPI 50
15 SI[i] <- O

16 T'IA j AINO 1 MEXPI 50
17 SIM[1] <= ZT[i] + TO[i, J]
18 TENOZ ENANANHWHE

19 TPAVE ON[i], =II[i]
20 TENOZ _ENANANHVHE

21 4.3

22 TIA j AINO 1 MEXPI 12
23 mM[j] <= 0

24 T'IA i AINO 1 MEXPI 50
25 mM[j] <- mM[3] + TI[1, 7]
26 TENOZX_ENANANHYHE

27 TENOZ_EINANANHWHE

28 min <- IIM[1]

29 minm <- 1

30 TIA j AINO 1 MEXPI 12
31 AN min < IIM[j] TOTE
32 MM[j] <- min

33 minm <- j

34 TENOXZ AN

35 TENOZ_ENANANHVHE

36 TPAVYE minm

37 TENOZ_ITPOT'PAMMATOZ



